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. y{is a square matrix then A=A' IS called .......... matrix. A) skew symmetric,
) symmetric, C) diagonal, D) denly
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If 2(344)=2:3+2:4 then the property used &5 ... A) commutative, B) associative,
{1’) distributive, D) closure

I log = 3 then x = ... A) 200, B) 1000, ©) 100, D
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B, The snlutinn setof§-Ix=-4= .. A) (=2} BI {18}, @) (3) B) {8}
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9. The two coordinate ézes intar's,ect at an aﬁgte Ofde i A) 30°, B) 60°, 04)0“, [) 45° |

10. Let Py (2, 0) and pz(ﬂ 2) are any two points in a plane then [p.p;f = .
A4, B) y2, C) 242, DJU

11. How many obtuse angles can be there in a triangle? A).at IEr.El 1, Bf al lha mest 1,
C) wo, E) vafy fram Iriangle to triangle

12, Perpendmular bisectors of a tnangle are ... A)cengruent, B) concurrent,
C) paralle! to each other, D) none of these

13. Diagonal of a lrect'aﬁglé measures 6.5cm, If width is 2.5¢m, ifs length s ..........
A) 4 .cm, B)9em, \@f Gem D)3 em

14: Perpendicular fom a vertex of a tiangle 10 ts opposte skieis called.... .
A)median, B) perpendicular bisector, C) altitude, D) angle bisector

15. The point of intersection of the ......... of a trianale divides them in the ratio
v A)angle bisectors, B) perpendicular bisectors, C) medians, D
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